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Let x and y be two strings over some finite a phabet A. We would like to transform x into y allowing only
operations given below:

Deletion: aletter inxismissing iny at a corresponding position.
Insertion: aletter inyismissing in x a a corresponding position.

Change: letters at corresponding positions are distinct
Certainly, we would like to minimize the number of all possible operations.

Ilustration

Deletion: * inthe bottom line
Insertion: * inthetopline

Change: when the letters at the top and bottom are distinct

Thistells usthat to transform x = AGTCTGACGC intoy = AGTAAGTAGGC we could be required to
perform 5 operations (2 changes, 2 deletions and 1 insertion). If we want to minimize the number operations,
we should do it like

G TAAGTAGGC
| I I |
G TCTG®* ACGSC

> >

and 4 moves would be required (3 changes and 1 deletion).

In this problem we would always consider strings x and y to be fixed, such that the number of lettersinxism
and the number of lettersinyisnwheren Zm.

Assign 1 asthe cost of an operation performed. Otherwise, assign O if there is no operation performed.

Write aprogram that would minimize the number of possible operations to transform any string x into a string
y.
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I nput

Input contains several datasets. Each dataset consists of the strings x and y prefixed by their respective
lengths, onein each line.

Output

For each dataset, an integer representing the minimum number of possible operations to transform any string
xinto astringy.

Samplelnput

10 AGICTGACGC
11 AGTAAGTAGGEC

Sample Output

4
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